S it al =
e SelT ATE
oY
THE!:
AEL
M o2
ored E3, T2 ®2l.
E/EY AEIE L HE, QI KB
EctAE O8] Ligd
HH:
DA HES| QE ZI = MER
2RIE ™HetHL = AET EE
Eolstod A = IH T £ US.
K0056.0150 M2 e =&
ofrz4 EHI:% _g_a.%nl-
MMIAME]:
K0100
K0101
K0102
K0103
K0106

=M MY
1) AEH El {X[1
2)2EH E 2[x| 2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/3



)
HEHIT A XS] AXIHF Ol XS] HE2HiI] ALl =
2 ST X M A NHYH SUH AES
=M
FH A
- :
; =
’_
\
5 ﬁ(k/x/xfx\ i
(&
\
= \
Nﬂ
&
B1
P B B
Z= 0
S U DYY SWY AFE Y2 H51H A SUT
FEHS  SIx[1 H 2IxD2 AEM oig R H 2IxP2 N7 A= =]
&ciorol &clorol E2igrol agol aglol =1 Eelag 13
Tzt M7 = W7 L= W4 M7 A4 AET Q2
K0056.0150 95° - 185° 75° - 110° K0100.19
K0056.0250 95° 125° 160° 70° 85° 100° K0100.28
K0056.0350 90° 120° 180° 70° 80° 110° K0100.30
K0056.0450 90° 125° 180° 70° 85° 110° K0100.34
K0056.0550 90° 120° 180° 65° 80° 110° K0100.35
FEHS A Al A2 BBTB2 C Cl C2 D H L U M g 2gH ZFETH
FH F1 F3
N N N
K0056.0150 12,7 27 7 12 6 24 28 11 54 51 135 60 26 M6x50 120 1500 900

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com  2/3



( ]
3 JaHE AXIS] AXIHFOI 1 X5 D] A=
2 elix ~Xis fXHE A M ST ATIE
£= 20
FEHS A Al A2 B B1 B2 C C1 Cc2 D H L L1 M = % = =L
FH F1 F3
N N N
K0056.0250 19 35 8 12 6 26 37 215 7 7.1 190 87 45 M8x60 190 2500 1150
K0056.0350 32 50 9 16 8 33 52 255 96 83 240 124 65  MI0x80 230 3500 1650
K0056.0450 32 53 10 20 10 42 57 30 8,7 8,7 246 136 74 M12x100 260 4500 1650
K0056.0550 51 76 125 20 10 41 101 38 12,7 12,3 345 197 108 M16x150 290 5500 1900

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 3/3



